THE GEAR COMPANY ===

w

roduct All in



VAIUEF (nFAR

Welcome o Frecssues

Graessner

A 2
Ao mibd

I
IIIIII

)
)

&

DIN EN ISO 14001 Directive 94/9/EC

DIN EN ISO 9001

www.graessner.de



GRAESSNER

1



PowerGear

PowerGear
/

~

drive side

coast side

Ease-Off

contact pattem for pressure angle

rotation variation
arron cesew e

3] ET| =

Gleason




The POWER/GiFAR

PowerGear
13
us P75-P280
o 8
i = 1:1,X75-X280

u i=1-5

3

www.graessner.de



PowerGear PowerGear

(]

PowerGear




www.graessner.de






N input [I’pm] Pinput Poutput
(Pinput = Poutput at N = 98%)

. Ninput

Noutputs Noutput = —pn

9550 X Poutput

Moutput [Nm] = Noutput

Moutput < M2 ominal

M output max. < M2 hax.

10 /

M output max. < M2 nominal
60 /

/

Ninput < N1 max.

P therm. (20°C, 100% ED)
( Pl )

F a1, Faz, Fa1, Fa2

).

n1 = 3000 rpm
n2 = 750 rpm
P =15.5 kW
ED = 100%
=20°C
i=n1/n2 i = 3000 rpm
i =41 750 rpm
M2 = 9550xP / n2 M2 = w
M2 = 197.37 P
Gearbox P140 4:1
M2exist. < M2nominal M2exist. 197.37 Nm < M2nominal 224 Nm
Nlexist. < NTmax. 3000 rpm < 3500 rpMmax.
Pexist. < Ptherm. P =155kW < Pinerm 16.1 kKW
P140L 4:1

www.graessner.de



PowerGear

PowerGear P75 P90 P110 P140 P170 P210 P240

11 Nm 45 78 150 360 585 1300 2150
68 117 225 540 878 1950 3225

1.5:1 Nm 45 78 150 360 585 1300 2150
68 117 225 540 878 1950 3225

2:1 Nm 42 68 150 330 544 1220 2010
63 102 225 495 816 1830 3015

3:1 Nm 33 54 120 270 450 = 1020 | 1650
50 81 180 405 675 | 1530 = 2475

4:1 Nm 28 52 100 224 376 860 1410
42 78 150 336 564 1290 2115

51 Nm 25 40 85 196 320 740 1210
38 60 128 294 480 1110 1815

rpm 6500 5500 4500 3500 3000 2200 2000

arcmin 6to15 6to14  6to13 6to13 6to12 6to12 6to12
arcmin 5t0 6 4t06 4106 3to 6 3to6 3to6 3to6

N 900 1300 2000 3500 5000 8500 11000
N 1100 1600 2500 4500 6000 10500 15000

N 450 650 1000 1750 2500 4250 5500

N 550 800 1250 2250 3000 5250 7500

% >08
1500rpm 70 74 76 77 78 80 82
kg 4.5 8.0 13.0 22.0 38.5
h >15,000
P75-P140 IS0 VG 150
-30°C - 100°C
RAL 9005-

P75/X75 P90/X90 P110/X110 P140/X140 P170 /X170 P210 /X210 P240 /X240 P280 / X280
KW 5.5 7.4 10.8 16.1 23.4 28.6 45.3 60.3
%/ 100 80 60 40 20
1.0 1.2 1.4 1.6 1.8
°C 10 20 30 40 50
1.20 1.00 0.87 0.75 0.62




PowerGear

PowerGear
11

1500rpm

Nm
rom

arcmin
arcmin

N
N
N
N

%

kg
h

X75

87
131
3000

6to 14
4106

1500

2000

750

1000

70
5.0

X110

290
435

2000

6to 13
3to6

3500

4500

1750

2250

76
13.5

X75-X140

X140

625
938
2000

6to 12
3to6

5500
7500
2750

3750

> 98
77
22.5

> 15.000

-30°C - 100°C
RAL 9005-

X170

1020
1530
1500

6to 12
3to6

7800

11000

3900

5500

78
39.0

80
71.5

1S0 VG 150

VAIIIE (g FAR
ValueGear u
a izl 1 2 1
a 80Nm
a
a
I 1 [kgem2]
i PO75L13 PO90L13 P110L13 P140L13 P170L13 P210L13 P240L13 P280L13
1.0 1.79 4.93 12.5 36.8 85.9 287 592 1190
1.5 1.22 3.45 9.17 22.4 54.6 179 373 762
2.0 0.95 2.78 7.41 15.6 39.3 123 253 506
3.0 0.78 2.34 6.18 10.9 28.5 84.1 167 328
4.0 0.72 2.18 5.71 9.19 24.5 69.9 136 263
5.0 0.69 2.10 5.48 8.32 22.6 62.7 120 230
X075L13  X090L13 X110L13 X140L13 X170L13 X210L13 X240L13 X280L13
1.0 2.26 5.99 21.4 61.3 142 485 987 2150

www.graessner.de



Lkr. Qv 5 g 5 .
N 4 S g a Na 5
Sl - 8 & -
ha s aa aa LA
l2 | n n_| 2 N
mi
m2 m2
f2 f2 fi
2 Oa 2
p p
Lk
E:3
ol 2 | ] 1 rz2
N—] =
o =l —
He /]
T
| o — '
L Qu
NG|
P75L P90L P110L P140L P170L P210L P240L P280L
1:1 to 5:1 1:1to 5:1 1:1 to 5:1 1:1to 5:1 1:1to 5:1 1:1to 5:1 1:1to 5:1 1:1to0 5:1
a 75 90 110 140 170 210 240 280
@b n7 73 88 108 135 165 205 235 275
(%]9] 72 86 106 104 128 160 180 200
Jd1 ke 16 18 22 32 40 50 55 60
Jdo ke 16 18 22 32 40 50 55 60
e 37.5 45 55 70 85 105 120 140
f4 120 135 155 180 215 265 300 360
f2 84 97 112 137 162 202 232 277
g1 15 15 15 15 15 20 25 25
g2 14.5 15 15 15 15 20 25 25
h 52.5 55 60 60 70 85 95 110
k M6 M6 M8 M10 M12 M16 M16 M16
l1 30 35 40 50 60 75 85 110
I2 30 35 40 50 60 75 85 110
m4 90 100 115 130 155 190 215 250
ma 54 62 72 87 102 127 147 167
n 2 2 2 2 2 2 2 2
p 30 36 44 55 67 85 95 110
ri/ro M5 M6 M8 M12 M16 M16 M20 M20
s 4x M5x9 4x M5x12 4x M6x12 6x M6x12 6x M8x14 6x M8x14 6x M8x14 6x M10x17
t 8 8 8 10 10 10 10 10
Qu ge 72.9 87 107 103 127 158 178 198
Qv 62 76 95 92 114 142 160 176
5x5x25 6x6x28 6x6x32 10x8x45 12x8x50 14x9x70 16x10x80 18x11x100

acc. to DIN6885/1

10




Lkr. @V S ol o —
: SIS
! (/3 \ ' e o &7 I s
~ L 7 "\\\ \
SE T . D) - —ts . L) _ £
ST T R\
o NTX
Ny ° i i
2 | n™~— nil2 L
m1
m2 m2
f2 f2
2 Oa 2
p p
|k
K3
ol | ] r2
-+ < o
> I
N Bw -
Du
P75FL P90FL P110FL P140FL P170FL P210FL P240FL P280FL
1:1 to 5:1 1:1to 5:1 1:1to0 5:1 1:1to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1to 5:1
a 75 90 110 140 170 210 240 280
Qbn7 73 88 108 135 165 205 235 275
Qc 72 86 106 104 128 160 180 200
Jd> ke 16 18 22 32 40 50 55 60
e 37.5 45 55 70 85 105 120 140
fo 84 97 112 137 162 202 232 277
g1 15 15 15 15 15 20 25 25
g2 14.5 15 15 15 15 20 25 25
h 62.5 68 80 110 130 170 180 185
k M6 M6 M8 M10 M12 M16 M16 M16
l2 30 35 40 50 60 75 85 110
m-4 100 113 135 180 215 275 300 325
ma 54 62 72 87 102 127 147 167
n 2 2 2 2 2 2 2 2
p 30 36 44 55 67 85 95 110
rz M5 M6 M8 M12 M16 M16 M20 M20
t 14 14 17 17 20 20 20 20
4.5 4.5 5 5 6 6 6 6
d2 5x5x25 6x6x28 6x6x32 10x8x45 12x8x50 14x9x70 16x10x80 18x11x100
acc. to DIN6885/1
Bd167 x |4 b x h acc. to DIN6885/1
@d167x 11/bxh 14x33/5x5 14x33/5x5 19x43/6x6 24x53/8x7 28x63/8x7 38x83/10x8 38x83/10x8 48x115/14x9
19x43/6x6 24x53/8x7 28x63/8x7 32x83/10x8 | 42x115/12x8 | 42x115/12x8 | 55x115/16x10
32x83/10x8 38x83/10x8 48x115/14x9
B5-Qu / Qv with 4 s / DwF7
Qu / Gv+s / Ow| 120/100+6/80 | 120/100+6/80 ' 120/100+6/80 & 160/130+8/110 ' 200/165+10/130 250/215+12/180 | 300/265+12/230
140/115+8/95 | 140/115+8/95 | 140/115+8/95 ' 200/165+10/130 | 250/215+12/180 | 250/215+12/180 1 300/265+12/230 | 350/300+16/250
160/130+8/110 | 160/130+8/110 | 160/130+8/110 | 250/215+12/180 1 300/265+12/230 ' 300/265+12/230 ' 350/300+16/250 K 400/350+16/300
200/165+10/130 ' 200/165+10/130 1200/165+10/130 | 300/265+12/230 | 350/300+16/250 | 350/300+16/250 | 400/350+16/300 | 450/400+16/350
B14 - Qu / Ov with 4 Os / OwF7
Qu / Qv+s / Ow|120/100+6,6/80 140/115+9/95
140/115+9/95 | 160/130+9/110
160/130+9/110 1200/165+11/130/ 160/130+9/110 | 160/130+9/110
200/165+11/130 200/165+11/130 1 200/165+11/130 | 200/165+11/130

www.graessner.de



Lkr. @v s g g i
PN N 8% ¢ S
2 775\ o *. .y o y
< (g < © - | ] |
7y RN 1 ) 9 L)
& % & z I |
N A I -
n n m | 13
m2 m2
f1 _
2 Oa 2
p__p k
— 3 - - |4
13 17 5
o Sy [}
& +
| of ‘_" |
] Qu
T4
P75H P90H P110H P140H P170H P210H P240H P280H
1:1to 5:1 1:1to0 5:1 1:1t0 5:1 1:1t0 5:1 1:1to 5:1 1:1to0 5:1 1:1to0 5:1 1:1to0 5:1
a 75 90 110 140 170 210 240 280
@b n7 73 88 108 135 165 205 235 275
dc 72 86 106 104 128 160 180 200
Jd1 ke 16 18 22 32 40 50 55 60
@ds H7 14 18 22 32 40 50 55 60
e 37.5 45 55 70 85 105 120 140
f1 120 135 155 180 215 265 300 360
g1 15 15 15 15 15 20 25 25
g2 14.5 15 15 15 15 20 25 25
h 52.5 55 60 60 70 85 95 110
k M6 M6 M8 M10 M12 M16 M16 M16
I 30 35 40 50 60 75 85 110
I3 47 55 60 70 80 95 115 130
l4 32 35 40 50 55 65 80 80
mj 20 100 115 130 155 190 215 250
ma 54 62 72 87 102 127 147 167
n 2 2 2 2 2 2 2 2
p 30 36 44 55 67 85 95 110
r1 M5 M6 M8 M12 M16 M16 M20 M20
s 4x M5x9 4x M5x12 4x M6x12 6x M6x12 6x M8x14 6x M8x14 6x M8x14 6x M10x17
t 8 8 8 10 10 10 10 10
Qu g6 72.9 87 107 103 127 158 178 198
Qv 62 76 95 92 114 142 160 176
d1 5x5x25 6x6x28 6x6x32 10x8x45 12x8x50 14x9x70 16x10x80 18x11x100
acc. to DIN6885/1
d3 5x5 6x6 6x6 10x8 12x8 14x9 16x10 18x11
acc. to DIN6885/1

12



fP@b
Gc

e
\

\
7y
X

a
e
T
A\
NS -
i
il
= Ddi
"
P
o S
il

S I
¢
P75FH P90FH P110FH P140FH P170FH P210FH P240FH P280FH
1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1 1:1 to 5:1
a 75 90 110 140 170 210 240 280
Qbn7 73 88 108 135 165 205 235 275
Jc 72 86 106 104 128 160 180 200
@ds H7 14 18 22 32 40 50 55 60
e 37.5 45 55 70 85 105 120 140
a1 15 15 15 15 15 20 25 25
g2 14.5 15 15 15 15 20 25 25
h 62.5 68 80 110 130 170 180 185
k M6 M6 M8 M10 M12 M16 M16 M16
I3 47 55 60 70 80 95 115 130
l4 32 35 40 50 55 65 80 80
mi 100 113 135 180 215 275 300 325
ma 54 62 72 87 102 127 147 167
n 2 2 2 2 2 2 2 2
p 30 36 44 55 67 85 95 110
t 14 14 17 17 20 20 20 20
z 4.5 4.5 5 5 6 6 6 6
d3 5x5 6Xx6 6Xx6 10x8 12x8 14x9 16x10 18x11
acc. to DIN6885/1
ad 167 x |4 b x h acc. to DIN6885/1
Bd167 x l1 /bxh| 14x33/5x5 14x33/5x5 19x43/6x6 24x53/8x7 28x63/8x7 38x83/10x8 38x83/10x8 | 48x115/14x9
19x43/6x6 24x53/8x7 28x63/8x7 32x83/10x8 | 42x115/12x8 | 42x115/12x8 | 55x115/16x10
32x83/10x8 38x83/10x8 48x115/14x9
B5- Qu / Ov with 4 s / ow"’

Qu / Ov+s / @w| 120/100+6/80 | 120/100+6/80 | 120/100+6/80 | 160/130+8/110 K 200/165+10/130 250/215+12/180 ' 300/265+12/230
140/115+8/95 | 140/115+8/95 | 140/115+8/95 | 200/165+10/130 ' 250/215+12/180 | 250/215+12/180 ' 300/265+12/230 ' 350/300+16/250
160/130+8/110 | 160/130+8/110 | 160/130+8/110 | 250/215+12/180 ' 300/265+12/230 ' 300/265+12/230 | 350/300+16/250 ' 400/350+16/300

200/165+10/130' 200/165+10/130 1200/165+10/130 | 300/265+12/230 | 350/300+16/250 | 350/300+16/250 ' 400/350+16/300 | 450/400+16/350
B14 - Qu / ov with 4 Os / oW’

Qu / Ov+s / @w|120/100+6,6/80 140/115+9/95

140/115+9/95 | 160/130+9/110
160/130+9/110 200/165+11/130 / 160/130+9/110 | 160/130+9/110
200/165+11/130 200/165+11/130 1 200/165+11/130 | 200/165+11/130

www.graessner.de



Series L g § ~
h=]
a7 ¢ © 87 N ¢ =
fel o
gt G I~ S| © (b -
o Q o~ (] —/ {‘
L8 L % | 8 aa % n|1
I2 n n l2 m T
m2 m2 ;
f2 f2 !
2 Oa
p p
.€
alr? L
—
of I—fﬂf
, o 2
|
) r
Serigs H I3 | H
R’ t\ ‘
SHH
7 \\_\$-
X75 X90 X110 X140 X170 X210 X240 X280
1:1 11 1:1 1:1 1:1 1:1 1:1 1:1
a 75 90 110 140 170 210 240 280
@b nh7 73 88 108 135 165 205 235 275
(%]} 72 86 106 104 128 160 180 200
Jd1 ke 20 25 35 40 50 60 70 80
Jdo2 ke 20 25 35 40 50 60 70 80
e 37.5 45 55 70 85 105 120 140
1 125 140 175 215 255 320 360 425
fo 93 105 140 167 197 252 282 338
g1 15 15 15 15 15 20 25 25
g2 18.5 18 23 25 30 35 40 46
h 52.5 55 60 75 90 105 120 135
I 35 40 60 70 80 110 120 150
lo 35 40 60 70 80 110 120 150
m- 90 100 115 145 175 210 240 275
ma 58 65 80 97 117 142 162 188
n 2 2 2 2 2 2 2 2
p 30 36 44 55 67 85 95 110
k M6 M6 M8 M10 M12 M16 M16 M16
ri/re M6 M10 M12 M16 M16 M20 M20 M20
S 4x M5x9 4x M5x12 4x M6x12 - - - - -
t 8 8 8 - - - - -
@u g6 72.9 87 107 - - - - -
ov 62 76 95 - - - - -
6x6x28 8x7x32 10x8x50 12x8x63 14x9x70 18x11x100 20x12x110 20x14x140
acc. to DIN6885/1
H
@d3H7 14 18 22 32 40 50 55 60
I3 47 50 60 70 95 95 115 130
lg 32 35 45 50 70 70 80 90
5x5 6x6 6x6 10x8 12x8 14x9 16x10 18x11

d3
acc. to DIN6885/1

14



PowerGear

I3 4 3 s I7 Is Jds Cheese head UL per

[mm] [mm] [mm] [mm] [mm [mm [mm] screw air

-0.5 +0. +0. DIN 912 Fkg]

P 75 122 75 40 12 108 60 6.6 M6 x 12 0.4
P 90 145 90 45 12 125 72 6.6 M6 x 16 0.6
P110 168 110 50 15 146 88 9.0 M8x18 0.9
P140 208 140 60 20 178 110 11.0 M 10 x 25 1.9
P170 250 170 70 20 215 134 14.0 M 12 x 25 2.7
P210 310 210 90 25 265 170 18.0 M 16 x 35 5.2
P240 345 240 100 25 295 190 18.0 M 16 x 35 6.5
P280 385 280 100 25 335 220 18.0 M 16 x 35 7.8

P10-P11

www.graessner.de



GRAESSNER




The VALUEGREAS
ValueGear N u
=112
a
ValueGear
§ 98%

Gleason

www.graessner.de




ValueGear a

ValueGear

18



The VAIUF GRFAR

ValueGear




Nm

rpm

rpm
arcmin
N

N

IP 64
& 112 D/G T4
-30°C - 100°C

i=1 1-5 1 P75-P280

PowerGear 8 a /
i=1 1 X75-X280
7800Nm
V60 V75 V90 V110
Kw 2.3 3.4 47 6.3
100% 80% 60 % 40% 20%
1 1.2 1.4 1.6 1.8
°C 10 20 30 40 50
1.2 1 0.87 0.75 0.62

20



V75-V110 Side4

t1
t2

TT

|
i

Detail Z

13LH

DIN 6885-1

Side 2
fs

VAIIIE (gEAR

www.graessner.de



@dsH7

dwi/dwz

V60 V75 Va0 V110
X 78mm 85mm | 105mm 120mm
Y 17mm 10mm 10mm 10mm
4 44mm 65mm 85mm 100mm
w 2x M6 2x M6 2x M6 2x M8

22




GRAESSNER

23



u
i=3 1-15 1

96%




The DYNAGIFAR

DynaGear

1 DynaGear

www. graessner.de



DynaGear

DynaGear

i

26


winnie


o DynaGear D140

< 2arcmin

www. graessner. de




S5

ED < 60%

EZ < 20 min

T1 accel. Mot [Nm]

T2 accel. max requ. = T1 accel. Mot X i [Nm]

T2 accel. max requ. < T2 accel. perm. X k

Ou,ds,ly [mm]

1,1

0,9
0,8
0,7
0,6
0,5
0,4
0,3
0,2
0,1

Reduction factor k

3 4 5 [ T 8 9
Number of cycles 1000/h

10

T 1accel. max = 16 Nm

i-8 1
2000/h

T2 accel. max. requ. = 16 Nmx 8 = 128 Nm

Gearbox D90 8:1 1L

T2 accel. max. requ. < T2 accel. perm. X k
128 Nm < 210 Nm x 0.8 = 168 Nm

D90 8:1 1L

O 105 mm, d1
O 115 mm, d1

@19 mm, |4
@19 mm, |

40 mm
40 mm

28



T1N Mot [Nm]

ToNrequ. = TINMot X i [NmM]

S1

ED > 60 %
EZ > 20 min

T2N requ. < T2N perm.

S1
Graessner

ninmot [rpm]

N1N Mot < N1N gearbox [rpm]

Ou,di, 4 [mm]

Tin = 6 Nm, nin = 3000 rpm
i=12 1

Tonrequ. = 6 Nm x 12 = 72 Nm
Gearbox D90 12:1 1L

Ton requ. < Ton perm.

72 Nm < 95 Nm

N1N Mot < N1N gearbox

3000 rpm < 5000 rpm
0 116 mm, dt = @24 mm, It = 50 mm
O 115 mm, di = @24 mm, 1 = 50 mm

D90 12:1 1L

www.graessner.de



T2Emer

T2acce|.

Ton
N1 max

nNiN

jt
t

@ For max
Foamax

n

LpA
(n1=3000 rpm)

Ln

2%

400rpm

Nm
Nm
Nm
rpm

rpm

arcmin
arcmin

N
N
%

dB(A)

kg

[kgem2] *

l4

30

i=3-10
i=12/15

i=3-10
i=12/15

i=3-10
i=12/15

i=3-10
i=12/15

3:1
4:1
5:1
6:1
8:1
10:1
12:1
15:1



D55 D75 D90 D115 D130 D140 D160

70 140 280 520 860 1440 2200
50 100 190 360 600 1020 1630
53 105 210 390 645 1080 1650
38 75 143 270 450 765 1223
35 70 140 260 430 720 1100
25 50 95 180 300 510 815
8000 8000 7000 6000 5000 5000 4500
6000 6000 5000 4000 3000 3000 2500

3/4/5/6/8/10/12/ 15

<5 <5 <4 <4 <4 <4 <4
<3 <3 <2 <2 <2 <2 <2
3300 4900 7200 10000 12600 15000 18000
1650 2450 3600 5000 6300 7500 9000
96
>93
<66 <66 <68 <68 <70 <70 <72
3.5 5.5 9.5 1845 23.5 32.5 46.5
> 30 000
100 °C
RAL 9005-
& 112 D/G T4
IP 64
D55 D75 D90 D115 D130 D140 D160
0.39 0.98 2.42 712 14.03 26.96 52.32
0.30 0.73 1.77 5.09 9.17 17.44 32.78
0.23 0.58 1.41 4.00 712 13.53 24.76
0.22 0.52 1.41 3.65 6.76 12.25 22.49
0.17 0.43 1.12 2.85 5.09 8.95 15.67
0.15 0.38 1.00 2.46 4.27 7.38 12.47
0.14 0.36 0.88 2.25 3.81 6.47 10.67
0.13 0.34 0.81 2.07 3.45 5.76 9.23

D190

2880
2040

2160
1530

1440
1020

4500

2500

22500
11250

D190
91.47
62.43
44.29
39.55
27.07
21.43
18.14
15.53

N

arcmin
h

rpm

%

Nm

kg

www.graessner.de



DynaGear : 3L

9. A g
. L |
> — !
\ﬁJ ) e
® = e | |
i\ L ®k1
‘—19 Side 2 p1 p1\
) P2 T‘;PQ 5 Side 5
Tﬁl I/Q Configuration 1L
2 |~ ( L)
a o
s _%1%
o T 1
r (& ) © Q Q Q [+
| | A - |
Side 1 /l i\ Side 3 l I| L| ]
A g Jy[\ o g o
) I R
) f \ f
| | [ |
<Z)d1 _r . . . .
Configuration 3L Configuration 13L
Dw ( 3L) ( 13L)
u DIN 6885/1
fs
1 [ , h1
1] Ny h0
o ! @) ’r ] [
£ ] I o o)
™ NERSRS
g /O I | e )
1 j -+ t_'__ LSS
Shaft extended for a shrink \ {
disk (e.g. Stuwe - type HSD 22) | ]
Configuration 3LSV
' ! ( 3LsV)

Configuration 1LSV( 1LSV)

CAD

32



8 10

23 27

72 82

40 47.5
13.5 13.5
M12 M12

13 14
Acc to form D DIN 332

Q@d+ 9 11 14 11 14 19 14 19 24 19 24 32 24 32 38 # 24 32 38 32 38 48 32 38 48
1 23 26 30 | 26 30 40 30 40 50 40 50 60 @ 50 60 80 A 50 60 80 @ 60 80 80 @ 60 80 80

Ouxfi® 55 x 130 75 x 168 90 x 191 115 x220  140x245  140x260 @ 140x 298 @ 190 x 335
75 x 140 90x168 | 115x191 = 140x220 190 x 245 190 x 260 @ 190 x 308 @ 260 x 345
90x180 | 115x201 | 140x235  190x 260 190 x 280 | 260 x 308

v w s m

www.graessner.de



D55 D75 D90 D115 D130 D140 D160 D190

dBA max 64 66 66 67 67 68 69

(n,=3000 rpm)

< 1 arcmin

(Robotic Flange )

POS. | @PCDd1

DIN EN ISO i=5 |Series 1/Series 2| h8

35 40 50
70 63
80




High Ratio

. N

Worm Gearbox

low efficiency

backlash increase
during life time

huge gearbox size
easy motor mounting

available in hollow shaft
configuration

available in solid shaft
configuration with
dual output shaft

inexpensive

Bevel Planetary Gearbox

high efficiency

no backlash increase
during life time

huge gearbox size
easy motor mounting

not available in hollow
shaft configuration

not available in solid shaft
configuration with
dual output shaft

Planetary Bevel Gearbox
GRAESSNER
high efficiency

no backlash increase
during life time

compact design
easy motor mounting

available in hollow shaft
configuration

available in solid shaft
configuration with
dual output shaft

Comparison of worm and bevel planetary gearboxes
with the planetary gearbox of Graessner

magazine Antriebstechnik 8/2003

GRAESSNER

35




IGEAR High Ratio (

A
Q

DynaGear

18 1-100 1

)

98%

Gleason

36



DYNAEAR High Ratio ( )

) DynaGear

DynaGear

BYNAGIFAR High Ratio

37

www. graessner.de



T2Emer

T2acce|.

T2N

L
Jt

Ct 21

F2R max
F2A max

n

L PA

(n1=3000 rpm )

O]
@
[©
@
®
©®

2%
400rpm
1000
1000 /

S5

120 1 150 1

D90 D115

280 520

210 390

70 140 260

6000 6000 6000

4000 3200 3200

D140

1440

1080

720

5000

2800

18 /24 /30 / 40 / 50 / 60 / 80/100

arcmin <6 <6
arcmin <3 <3

Nm/arcmin . . 17.5 39.0

7200 10000
3600 5000

>92 >92

<68 <68

12.5 19.0

> 30 000

-10°C - 100°C

RAL 9005-
IP 64

<6
<3

103.0

15000

7500

>92

<70

36.0

38



DynaGear

3L

9. A g
. L | |
e ]
(] s N
el \ 7 o ! ‘=J
il =] | _
: K1
‘—19 Side 2 p1 p1\
. i Side 5
—Fh 3 K2 Configuration 1L
e Ml e T« 1)
a od
s _%1%
o [-I — T (A
r (& "'\ © Q Q Q0 [+
| | A - |
se1” L] LU side 3 l ——] — —
T g jJi’ (o M1 1)
177 | SR s!
) f \ f
| | L |
L Lol Lol
@ Configuration 3L Configuration 13L
Pw ( 3L) ( 13L)
du
(DING885/1),
fs
1 [ , h1
hl ] o
c iy O ’r ) 1
z K _Jlao
™ NERSRS
g /L O e e
j e t-_-_ i SEEEEIs!
Shaft extended for a shrink \ {
disk (e.g. Stuwe - type HSD 22) | ]
Configuration 3LSV
' | ( 3LSV)
Configuration 1LSV( 1LSV)
BYNAGFAR High Ratio

39

www.graessner.de



9 M
23 26

55 x 155
75 x 155

1 14
26 30

75 x 190
90 x 190

8
18
59
33
11
M10
11

8
23
72
40

135

M12
13

Acc to form D DIN 332

14 19
30 40

90 x 177
115 x 177

2
70
80
34
40
159

19 24 24 32 32 38
40 50 50 60 60 80

115 x 218 140 x 278 190 x 325
140 x 218 190 x 278

40






DynaGearEconomy a a
) 51 8 1 10 1 15 1

~

u a 96%

DynaGearEconomy ( )

‘coast side drive side

Ease-Off

i

=TT

rotation vaniation

N ]1 7 100 N ] T g a0
8 ‘= & =

Gleason



DynaGearEconomy( ) 0O DynaGearEconomy( y O Q




7 DE-DG

DE-DG55 DE-DG75 DE-DGY0 DE-DG115

T2emer i =5/8/10 140 280 520
i=15 50 100 190 360

T1 accel. N

Taaccel. i =5/8/10 53 105 210 390
i=15 38 75 143 143

Ton i =5/8/10 35 70 140 260
i=15 25 50 95 180

T2 accel. max requ. = T

6000 6000 5000 5000

3700 3100 2700 2200
4200 3500 3000 2500

i 5/8/10/15

«
T2 accel. max requ. -

it arcmin

F2R Max N

FZAMax

n i = 5/8/10
i=15

Du,d1!

(n1=3000 rpm)

S5
> 15000
11
i
x 08
5 08
-10-100 § 0,7
= 08
RAL 9005- g 0.5
3 04
®112 D/G T4 8 03
0,2
IP 64 0,1
al} 1 2 3 4
égg 3.6 Number
0.84 . . /
0.79 .
@ 1000 x
@ 1000 7/ k
©] 2% L
@ Ratio i = 8
® S5- 2000 7/
® T2 accel. max. requ.
@ S1 n 30% T. Gearbox DE9
" T2 accel. max. requ.
128 Nm < 2
DE-PL/DE-
44

I S1




/ DE-PL

DE-PL75 DE-PL90

Totmer i =5/8/10 140 280
ot [NM] i=15 50 100 190
Toaccel. i =5/8/10 53 105 210
i=15 38 75 143
Ton i =5/8/10 35 70 140
i=15 25 50 95
1 accel. Mot X i [Nm]
N 1max 6000 6000 5000
nm 3700 3100 2700
4200 3500 3000
5/8/10/15
< T2 accel. perm. x k
arcmin <7 <7
N 2200 4050
N 1100 2025
% >96 >96
>93 >93
1; [mm]
dB(A) <66 <66
(n1=3000 rpm))
2,6 4,5
ED < 60%
EZ < 20 min
-10-100
H"‘“‘-——_._,____ RAL 9005-
T ® Il 2 D/G T4
IP 64
i=5 1,08
L | -1 .4 L B 121} .
1l cycles 1000vh i=8 0,89
i=1 0,84
i=1

(6 N}

0,79

1000 x
1000 / k
2%

T1 accel. max — 16 Nm
1

CRCRCRCRCRC]

= 16 Nmx 8 = 128 Nm
08:11L

< T2 accel. perm. x k

10 Nm x 0,8 = 168 Nm

DG 90 8:1

Graessner I

www.graessner.de



DynaGearEconomy( )

DE-DG
2
Dv2 m1
2 X c
0 4x Ok o
s ] % ] v
© \l IL 4xs
] . 2N\ D
r L ;:2{ B ’ D
n L5 e ~ . i
2 = | \ P i
p p < L] &
= SN
| | du?
o DE-DG55 DE-DG75 DE-DG90 DE-DG115
@d1 Ta 84 100 125 150
c 36 42 52 63
Dwi x 37 45 58 71
aut o 9 14 18 23
e 58 74 89 107
fs n 2 2 2 2
m, 130 156 187 225
_ g 45 4.5 4.5 6
| C h0 t, 20 27 33 40
r-\h 0d, 20 24 32 40
il [ s R 35 40 50 60
= I 28 f, 87 100 126 146
S ] » ___|| QS © 9: 13 13 16 16
B :j_/_: = t, 9 11 14 17
( Ou, 90 115 140 170
» r i ov, 110.3 138.6 166.9 203.6
B R R p 39 49 59 72
I | ok 6.6 9 11 13.5
| BW; 46 89 105 125 150
 E m— r acc. to form DS DIN 332
= i f, 64.5 73.5 87 102
i ho 20 22 26 29
(@) ad,, vr 20 25 30 40
-1 ] 9d; 24 30 36 50

DE-DG55

V2
11

26
75
75
60
M5

46

DE-DG75

V2
14
33
75
75
60
M5

DE-DG90

V1
14
33
90

80

M6

V2
19
43
90

80
M6

DE-DG115

\'Al
19
43

V2
24
53

V3
32
63




DynaGearEconomy( )

m1 Qv2
o 4x Ok
=
|
| \ ©
: Iy 5
i —‘—_"_ﬁ 0
&
[h]
O
du2
DE-PL55 DE-PL75 DE-PL90
Oa 84 100 125
Ob 91,5 110 139
C 46,5 56 68
X 47 54 68
o 9 14 18
Oe 58 74 89
n 2 2 2
m;, 130 156 187
91 4,5 4,5 4,5
t 20 27 33
Qd, 6 16 22 32
I, 28 36 58
f, 95 110 148
92 18 18 20
t, 8,5 10 13
O u, 66 76 101
v, 68 85 120
Ok 5,5 6,6 9
OW, 6 60 70 90
r acc. to form DS DIN 332

DE-PL55

V2
11

26
75
75
60
M5

DE-PL75

v2
14
33
75
75
60
M5

1

2
c X g2
2 N
_x._\w a ©
C =
L
Vo ]
e
HE R
& @d1

dwi

du1

DE-PL90

V2
19
43
90

80
M6

47



GRAESSNER GEORGII GmbH

1551 2 508

© +86-21-61455231
: +86-21-61455232

china@graessner-georgii.com

www.graessner-georgii.com

48



Germany

GRAESSNER GmbH & Co. KG
THE GEAR COMPANY

Kuchenécker 11

D-72135 Dettenhausen

Phone: +49 (0) 7157/123-0

Fax:  +49 (0) 7157/123-212
E-mail: mail@graessner.de
www.graessner.de

GEORGII KOBLOD GmbH & Co.KG

Austria

GRAESSNER GmbH
PerfektastraBe 61

Objekt 6

A-1230 Wien

Phone: +43 (1) 69924 30-0

Fax:  +43 (1) 69924 30-20
E-mail: graessner@graessner.at
www.graessner.at

WwWw.graessner-georgii.com

France

GRAESSNER GmbH & Co. KG

53, rue de Rountzenheim

F - 67620 Soufflenheim

Phone: +33 (0) 388860648

Fax:  +33 (0) 388869344

Mobile: +33 (0) 68207 4992

E-mail: claude.rebmann@graessner.com
www.graessner.com

GRAESSNER

GRAESSNER GEORGII GmbH

1551 2 508
: 200051
: 021-61455231
: 021-61455232

- china@graessner-georgii.com

Wwww.graessner-georgii.com

GRAESSNER




THE GEAR COMPANY

DynaGear
] ]
[ | |
u i=3:1~15:1 [ ] i=5:1,8:1,10:1,
L} 1440Nm 15:1
[ ] u 140Nm
[ <2 arcmin L
[ ] [ ] <6 arcmin
| |
| |
| ] i=3:1-100:1
| ] i=1:1-5:1 Graessner)
[ ] 7000Nm 540Nm
| |
n
= ) n
i=50:1 u i=1:1,2:1
= n 80NM
]
= n
[ ] 99%
]
®
20:1
- GRAESSNER GEORGII GmbH
m 0.5-12
- 410mm 1551 2 508
= 10 -170 o +86-21-61455231
: : +86-21-61455232
n 7 DIN 3965- china@graessner-georgii.com
1 DIN 3965- www.graessner-georgii.com

GRAESSNER



